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EPEI CRELT
A 106,442,211 | 100.0 | 105,703,883 | 100.0 738,328 |5 1 = 106,442,211 | 100.0 | 105,703,883 | 100.0 | 738,328
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5110 sE==¢ 106,317,780 105,579,502 738,278
5111 979,660 934,692 44,968
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@ HEXH HWSSEs3H SE=2cl SRUYsa 3x F: 44,968,000 &
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AIBHHBE A A 48X} 3,811,0008 +32 11,433,000 &
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BT SR ALAL 28E R} 4,303, 0008 7L 30,261,000 &
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! 2 20203/ HIHE | 20208 HHE = A 2toH
3XF=Z Okt | 2XFF Off &k A N &2 H =%
2 e = (A) (8) s
IISHNMSER A BAL 281X} 4,440,0008 +13% 57,720,000 &
JISDNSUER A BtAt 381Xt 4,363, 0008 «4% 17,452,000 2
IISDNSUER A BtAt 431X} 4,363, 0008 4% 17,452,000 2
IISDNSUER A BtAt 581Xt 4,267, 0008 6% 17,068,000 2
IISDHSUER A B 631X 4,267,008 +13% 55,471,000 &
IISDHSUER A8t 631X 4,267,008 %1% 4,267,000
IISDHSUER ABtAt 781Xt 4,192, 0008 4% 16,768,000 2
IISDHSUER A BtAt 881Xt 4,192,0008 %10 41,920,000 2
AISHYSHRl AAF 28¢R} 3,965, 00081 %275 ,090,375,000 &
AIBICNEIR AL 28FRE 3,965, 0008 %5 19,825,000 2
AISHHSHRl ALAF 38R} 3,896, 0008 %20 77,920,000 2
AIBICHER ALAF 38FRF 3,806,0008 %1% 3,896,000 &
AISHHSHRl AL 43¢R} 3,806, 0008 %240 935,040,000 &
AIBICHEIR AL 43X} 3,806, 0008 %3 11,688,000 2
AIBINEIR ALAF 58XF 3,811,0008 %159 57,165,000 &
AIBINER AL 68FXF 3,811,00081+230% 876,530,000 &
AISIYSHE AAF 63Xt BIESSE 9,940,000 &
AFASIER A AL 281X} 4,337,0008 % 14Y 60,718,000
AFASIER A AL 381X} 4,261,0008 %1 4,261,000
AFASIER A AL 431X} 4,261,0008 %169 68,176,000 &
AFAMSER AA 53X BESE 2,616,000
NSO AL 281X} 4,337, 0008 +72Y 312,264,000 &
WSS AAF38EXt 4,261,008 7 29,827,000
WSHSE A A 43HXF 4,261, 0008 «48Y 204,528,000 &
WSS A AF 53Xt 4,168, 0008 3% 12,504,000 2
WSHsE AAH 53R SIESS 1,308,000 &
BASXHER A AL 181Xt 4,400,0008 3% 13,200,000 2
BASXIHER A At 281X 4,400,0008 50 220,000,000 &
BASXIHER A A 381Xt 4,323, 0008 %5 21,615,000 &
BASXIHER A At 431X} 4,323, 0008 %33 142,659,000 &
SASXIHEE A A 581Xt 4,228,008 3% 12,684,000 2
ASIHSHE AAF 28HXF 4,400, 0008140 616,000,000 &I
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! 2 20203 HIH T | 20203 HHE = A 2toH
3XFEAE Ol AtH | 2XF=F Off AbeH o ME2 =Y
= g = (A) (B) (A-8)
— AR AAF 28t R} 4,400,000 %1% 4,400,000 &
— AR AAF 38R} 4,323,000 %13 56,199,000 2l
— A AAF 38R} 4,323,000 %1% 4,323,000 2
— AGISIE A AL 43ER} 4,323,000 %114 492,822,000 2
— AGISIE A AL 58ER} 4,228,000 *23E 97,244,000 2
— A HAF 58X} 4,008,000 2% 8,456,000 2
— AYIEE AL 58T} BESE 2,368,000 2
— 25102 0HatR MAF 28R 5,357, 0009 *49H 262,493,000 2
— 2510 HEtR MAF 28R} 4,344, 00091 %4 17,376,000 2!
— 235102 0ate MAF 28X} 5,357,0008 %3 16,071,000 &
— 2510 HatR MAF 38R 4,269,0008! 6% 25,614,000 2
— 2510 HEtR MAF 48E 7 5,264, 0009 *42H 221,088,000 2!
— 23102 HEtR MAF 48R} 4,269,00091 %3 12,807,000 !
— 25102 0HatR AAF 58 R 5,149,0008 %11 56,639,000 2l
® O1sre HEE)| 22 29
— 45%%90,0002! %22 X *2H 8| + 302 %90, 0008 *2 24 Fh 20} 27,000,000 &l
gtAH:| 16,638,300,000 &
5200 MU I| 242 - - - —
5210 M2+ - - - —
5216 - - -
MBI FSRE=,
A - &
5400 =2+ 96,817 96,767 50
5410 0l =0| At 60,767 60,767 =
5411 60,767 60,767 -
0l 201 Xt ® G120l Xt
— GIZ20IX 42 30,000,000 30,000,000 &I
ORVELNELIP 16,767,000 !
m UEASRH HWSASS23H LELR(UER) 30 14,000,000 &
B 60,767,000 &
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! 2 20203 HIH T | 20203 HHE = A 2toH
= — A= Ol A | 2XH=F Ol Ao CEA—E)_' MEZH =4
& g = (A) (B)
5420 J|E} K242 36,050 36,000 50 36,050,000
5421 36,050 36,000 50
FSENe] ® =4
— JIEF=2! 30,000,000& 30,000,000 €
® 22=Z 012 3,000,000 *23] 6,000,000 &
@ TAHT ISIS=23H Al-2-4 CARIISLSHD & 50,000
B 36,050,000
1300 D& Xt AHH 242 3 3 -
1310 S8 DE XA 2422 3 3 B
1311 & X O 2 CH - - - B - =
1312 H2042¢0H - B - =
1314 1 1 -
11212002 i ® B2EX 1,000 1,000 &
B 1,000 &
1315 1 1 -
X8I =002 CH ® BEEX 1,000 1,000 &
B 1,000 &
1316 1 1 -
xH2F 2 0) 2t O ® BE2EX 1,000 1,000 &
B 1,000 &
NEEYEEE] 106,414,600 | 105,676,272 738,328
INERPNENEI 27,611 27,611 -
1100 | E QS KHAH 34,990,609 34,990,609 B
1110 34,526,703 34,526,703 -
SsEx2 ®SENZ 1 =B BN
— et S=23|2 31,255,715,0002 31,255,715,000 &
— S AS=235/7 3,270,988,0002 3,270,988,000 ¥
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! 2 20203 HIH T | 20203 HHE = A 2t0H
= — 3XFEAE Ol AtH | 2XF=F Off AbeH ?&%ﬁ ME2A =9
= g = (A) (B)
A 34,526,703,000 &
1120 463,906 463,906 -
J|Et R = Aok @ IEIRSANM 11X =8 SH
— e s=E33lH 456,979,000 456,979,000 &
— eSS 23IH 6,927,000& 6,927,000 &
A 463,906,000 &
S22 34,962,998 34,962,998 = 34,962,998,000
2120 77,339 77,339 -
ol=2 @® =21 =4 s
—es=s33H 77,339,000 77,339,000 &
A 77,339,000 &
2130 34,432,063 34,432,063 -
S43 & Hd23 13t = B
—&Es=s323lH 31,170,016,000& 31,170,016,000 &
—HedS=E33H 3,262,047,000& 3,262,047,000 &
A 34,432,063,000 &
2140 453,596 453,596 -
JEtR=2 @®IESSEMN 1X =8 SN
— &S =323lH 453,596,000 453,596,000 &
A 453,596,000 =&
=2 = 8 A 106,442,211 105,703,883 738,328
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o = 20208 = [ 20208 E [ < Sy o
- — BXFZ Ol | 2XF ol | TE ME2 cl
2 g = (A) (B8)
4100 E= 55,269,610 54,841,663 427,947
4110 W= 42,596,972 42,219,025 377,947
4111 23,530,386 23,530,386 -
DRAZ0 <K HIRUE QIAHIZAIA & X>
©® w=0 23,530,386,000 23,530,386,000 &
8IH: 23,530,386,000 %
4112 1,679,642 1,679,642 -
WA K HIRUE QIAHIZAIA & X>
© WLz 1,679,642,000 1,679,642,000 &
BIH:  1,679,642,000 #
4113 10,182,716 9,907,216 275,500
InChIES=, <K HIRUE QIAHIZAIA & X>
® +YI22IYR
—Z2AE: (M U35,000&*600A 228 D] + H S35 1,757,400,000 &
® HzEsII2Y
— HZESD| ZME (HY,otH,SH) : 500Al2=*56,0 56,000,000 &
ONUES-T-EY
— WRASG(A,SHEHD]) 3H*100,0003 »7L 2,100,000 &
© wWHM=% 8,407,326,000 8,407,326,000 &
© MZFa A= 350,000 3% 1,050,000 &
© UWRa A= 200,000&*10H 2,000,000 &
© HEAAIZ 2,000,0003+7H 14,000,000 &
© SR La 500,000 +13H 6,500,000 &
® 48t S| AAR
— HESH| F2H2AAMS 52, 0002 «30Al z=*2 1 BF«2JH St 6,240,000 &
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o = 202081 | 202081099 % |~ o
= - 3X= ol | 2% oty | T AEDH o
= & = (A) (B)
— HZESD| OF2tZAIZ 55,0003 *30Al =21 Bt+x2 1 St 6,600,000 &
W DDA S=E=235H Bl-1-2 MZALI|B NS
— F=gIIE2S9YR WAL AIE -352,000,000& -352,000,000 &
@ OAIRRIA USHEZZE N DEAAABAUSSEHO 330,000,000 ¥
@ DA SI=S=235H BI-1-2 MZALI BN
— FIIE2ESEHIE WL AIE -54,500,000& -54,500,000 &
B12:  10,182,716,000
4114 2,876,004 2,823,004 53,000
nAYHELD © e Apstolz
— AFBFOIZ 5,900,000 «0.09%5,294/9,000%530 2 * 122 1,573,219,000 &
— THEHEAF 5,900,000 0. 09+0. 0454+530 + 122 153,324,000 &
© LA 201G 1,300,000 0. 045+ 1002 82 46,800,000 &
® DY ALPHE 5,000,000 «0.0323%0.65+530 * 1 787,817,000 &
® DY Y LA ATHEE 2 1,250,0008 *0.006%300 27,000,000 &
© AIZIZAL AT EEE 4E
— 730,000 %2002 %0 00800+8 & 9,344,000 &
® AtSAZ E[& 4G 25 000,000& ~ 8H 200,000,000 &
® DY Y AUA DEEEEZ 1,250,000 %0.017% 150 25,500,000 &
@ =2 ISIS=23H Hy=L2 22 DHFE 53,000,000 &
813:  2,876,004,000 &
4115 2,781,475 2 747,089 34,386
Al2t2o 2 OES=pIEr==T==
— ANZF2UAE: (A256,0002%1,100A12 + B253,0009 1,795,500,000
® A=Y
— HIEEI| ZAZ (A 45A12+56,00080 %184 2,520,000 &
® LAHSMHAZ DX
— AZ2F2OIZ: (56,0009 %1, 158A1 2 + 53,0002 1,27 92,845,000 &
® ChBHel AIZFZAF 22 X2
— AAFE: (=2} 52,0009 %8AI2F + OF2F 55,0002 %30 521,424,000 &
® Q20 A AAIZ XD
— 2O | AIZHE 30,0002 *3Al 2bx 1575 «4JH 2 2 10,800,000 &
W NeH WSS=23H Bl-1-2 MZAAI|BNS Y
— 2|2 209010 A[2b2H0| 2 324,000,000 324,000,000 &
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} = 20203 X & | 202031 A S
= - 3XEY &Y (2T of A ME2 29
= g = (A) (B)
® L=XH HS=332 BI-12 MBI 8
— £9I|B2YR ALAZ -32,700,0009 ~32,700,000 2
@ NTH HSS=23H MENZ BAE 3% F2
— AEIRZ 48,846,002 48,846,000 2
@ [istnEy HEAS=33IH LAEES
— ZAEIRI S 18,240,000 18,240,000 2
87:  2,781,475,000 %
411 118,905 118,905
sggolz ® DasEHLE A3
— I 200,0008 *3AI 2483 %25¢ D] 9,600,000 &
— L& 75,0002 «2A1 2H+163] %25t D] 4,800,000 &
@ nastEiLe £3
— i 75,0002 %1 Al 24831 +28} | 1,200,000 &
® RASSHLH BEX
— 2|5 100,0008%16%+25¢ D] 3,200,000 &
® WASHSHLS VISION ON XHJI2el S
—ZUE 150,0002 *3AI 2H+73] %28} | 6,300,000 &
—SHE 10,0002 *3AI 24473 %28} | 4,200,000 2
® DAESHLR SSAG L SSDE HYA
—stEHSAY 02 (2IHE)
@ RASSHLY ssy D20 REY SY
— SIS S| 200,000 %2l 2h+108] %234 8,000,000 &
® RQEM Mg
— 2OIXIEH| 50,0002 +2A] 2++303] 3,900,000 &
— F BT 50,0002 *3A 2H+53] 750,000 &
® AHAN U 24
— 24U 50,0009 14AI 21325251 )| 18,200,000 &
OCIP=PN Fy=
— LAE 100,00021%3% 300,000 &
ONVESSE-EE
— HSIUMIMOID MY SYAO|2(62/+200,0008) 1,200,000 &
@ NRXPAIY MNREH BT ¥ T2 29
— RRXALALR 200,0002 *40AI 2+ 8,000,000 &
© FANANS OITHors s 2o




} = 20203 X & | 202031 A S
- 3XEY &Y (2T of A ME2 29
= g = (A) (B)
— A2 25A121%200,0002 %25] 10,000,000
® FANANY HAXY Z202 29
— AT ALAIR 200,000 17541 2¢ 35,000,000 &
® WAOISH 0
— A 300,000% «3% %25} 714200, 000! 1% 25+ | 2,200,000 &
® K—lMoveA At} SEACIZ : 60,0002 +382AI 21 22,920,000 2
® FHTAY SBLOAZ 1 60,0002 %100AI 2020 D3 12,000,000
® waUE
— SIEESZY Al 75,0002 %152 3 1,125,000 2
OFnPCEN(CEERSY
— SIS LOIZ 100,0008 * 43| * 2AI2H 800,000 &
& DASEILE HBHS=335/0 B4-2-1 AR
— CHSISAXIRALYS Ol B4 ~15,600, 0008 ~15,600,000 2
& DASEILE HBHS=335/H 422 LEHDA
— DHSIEAIXIRANY Off &HEl S -3,200,0002 ~3,200,000 &
W DASEHLE HHS=33H B4-3-1 SSSHA
— DISISAXRAY 022 B -17,700,0008 ~17,700,000 &
W OIAINLH (HESEI3IH B2-2-2 HAATABE
— SAQIZH 04 -1,200,0009 ~1,200,000 &
— MBOIESEOISRF> 3,360,000 3,360,000 &
W OIANLH (HES=IIH 222 XGAEIZAT
— OIS AFETE -300,0009 ~300,000 &
W MADACNS (HSS=Z3H B5-1-2 HAME D
— SAUNES -150,0002 ~150,000 &
8t 118,905,000 %
471 25,000 25,000
DHEHZ DAEINZ 5,000,008 +58 25,000,000 2
Bl 25,000,000 &
471 1,402,844 1,387,783
ZDOIAY| @ Zmeliy
— XDEZ: 52+2,006,0002+10IH + 522+2,066, 1,257,984,000 2
® =R 233 2
— X0 E/A3 232,000,008+ 1B X 4,000,000 &




1 = 202081 | 202081099 % |~ o
= - 3X= ol | 2% oty | T ME2A 2o
= g = (A) (B)
® zwolAbl
— XIEIFQID: 522%200,6002x 10+ 522 *206,6 125,799,000 &
@ DX SS=23 ZmelAl ZnoA| 33
— X1 S¥€4Y 15,061,000 15,061,000 2
8H:  1,402,844,000 &
24 12,672,638 | 12,622,638 50,000 12,672,638,000
4121 5,287,192 5,037,192 50,000
X K HIRUE QIAHIZAIA & X>
® |20 5,237,192,000 5,237,192,000 &
@ OARZIA ISSE25H DEAABAFESIEY 50,000,000 2
8:  5,287,192,000 &
4122 511,280 511,280 -
PN < HIRUE IAHIHMA B>
® ZAAA0I2 511,280,000 511,280,000 &
B 511,280,000 #
4123 2,929,372 2,929,372 -
AR S <x HEUWR QIABIZAA BX>
® WSR2 AL
— RAACH(AF,BHEF]) 92%100,0002x7L 6,300,000 &
® T[S 2,908, 152,000 2,908, 152,000 &
® AW MBAALZ 100,0002 %102 1,000,000 &
® TAME HFAAR 5000002102 5,000,000 &
® DX 2ITAB00,0002 102 5,000,000 &
® mAHLY
— £, 252 X (40,000%64) 2,560,000 &
— ANEZ2H ERY U= (40,000%4) 160,000 2
— SE22 BUYE(30,000+40) 1,200,000 &
83H:  2,929,372,000 &
4124 1,468,454 1,468,454 -
NAMEEL2 ® M AEei2
— AISIOIZ 2 4,000 0008 *0.00% 160 * 128~ 10l 716,720,000 &l
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o = 202081 001% | 202081099% | . .,
— xR olare | 2xE oty | L E ME2H 3o
= g = (A) (B)
— WHEAES2 4,900,0002 %0.09%0.0454% 1602 * 12 38,442,000 2
® 2012 2,200,000 0. 045+ 1102 x 128 130,680,000 2
® AABE 4,300,000 +0.0323+270% * 122 450,004,000 2
® AHEE 2,200,000 %0.007+ 1402 128 25,872,000 &
® HAR MYEES o
— 2,000,0002! * 152 *0. 00800+ 122 2,880,000 &
® AIBIZ E|=ag 25,000,008 * 29 50,000,000 &
® DBEE 2,200,00020.017+1202 128 53,856,000 &
8H:  1,468,454,000 &
4125 2,148,000 2,148,000 -
Q1 Al 01 24| < HRUE AHIZAAN &E>
® ‘Al-1-2 FBF BHA PE L AL N
— DU TR L PH 62*20L*10)H 2 *170,0002 204,000,000 &
® AR QIZHH| 2,250,0008*72% x 12012 1,944,000,000 &
83H:  2,148,000,000 &
4126 7.840 7.840 -
Lol ® A-1-2° FBFE BHA PE L A R
— DU ZHB2| YRE L2 2H=4L=7HE*140,0 7,840,000 &
BH: 7,840,000 &
4127 320,500 320,500 -
xelg X2 ® R AEEZ10,000,0002 %1 10,000,000 &
© AR EFZ 2,000,0002x 28 * 10 40,000,000 &
® E1=I3 230,0002 * 502 * 120 138,000,000 2
® A= g2
— MR EXZ 132 2,500,000 32,500,000 2
m OIAIRIRIA (JEISE225H DEAASB2I S5 100,000,000 2
BH: 320,500,000
4200 22l 22| 10.927.449 | 19.556,477 370.972
4210 AlE 22l 12,616,268 | 12.268.268 348,000
4211 8,791,245 8,523,245 268,000
AE=22H| © CAl-1-2 ZSFH MEA D= U AS A
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! = 202081 | 202081099 % |~ o
— 3X= ol | 2% oty | T ME2H o
= g = (A) (B)

— 2E RNES (BAXH) L AL HSSETAL 5 50,000,000 &
— 2o0=ste Sos Yoja wEY A 1, 2% 9,600,000 &
— 2 g BATA(HES, FDS) 190m +80,00) 15,200,000 &
— gRste J|2oASStAGA R2I220| XBA F 4,200,000 &
® Al-1-2° B BHA 2E L AL N
—ABHH 222 Al 800,000 2000 S 16,000,000 &
—®I|a =& DHZ AL 39,000,0002 <2CH 78,000,000 &
—0l=0StE FANES TSI AXZ A 5,000,0009 30,000,000 &
® Al-1-2 FBE BHA 2= Y AL N
— JIEY L AER2H] 7,000,002 %1202 84,000,000 &
- N SHa U240 PUIE SN 18ORTH20HA55 20,016,000 &
- JISnasASE Gy By IEH0 DY 22 40,000,000 &
® "Al2-5 OIS DSEIAIL =5
— HOHQIAIE P4 |5,ooo,000% 5,000,000 &
® ‘Al-1-6" ST AL A L XY SO
—2=& XHE LEDRAZAL 1,000,002 x48} 48,000,000 &
® CAl-2-2) oAl AzA BA A
— DU NI EHP, GHP AILID| ZE HATA 42,000,000 &
—HDUSUE HANYIDA 22E X2 SM=T 48,080,000 &
—Ol&0EE FEE FCU ZXIZ A 5IH41%3,600,0002 18,000,000 &
—HSZ WEHPALD SUCIEX DB AL 447423 10,120,000 &
® AN&ZAIL 22
— RS, FES, WAL HME ATAL WS 2 6,120,000 &
— 2%E, F2S, WAHHEME BIAL WS 2 6,120,000 &
— 2UE, WS, WAHTMEH ASAIL W2 2 6,120,000 &
— 2%E, FES, WAHHME SEAL WS 2 6,120,000 &
— 2UE, WS DLATA U AR YUY A 19,125,000 &
— 2=, F2S DFKATAIL HETAF 100,000,00 100,000,000 &
® AEZAL 22
— WY MHE TS S WAL 150,000,000%1 A 150,000,000 &
— HE SHNETR ALHAAE HX/H 5,000 5,000,000 &
— SUE, XS oA U AZA WL X 19,125,000 &
& ANHTRIH HES223/H Al-1-2 FBABHAD
— 22E SEA 24 2AF2,450,000,0002 2,450,000,000 &
— W5 AL AEINE S E AL 550,000,000 550,000,000 &
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o = 202081 | 202081099 % |~ o
= — 3X= ol | 2% oty | T ME2H o
= g = (A) (B)

— 2= AR VRAISA YLED] X2 A 20,000,000 20,000,000 &
— 2EE JAHGRA 2UYS2H| 2,000,000 2,000,000 &
— QSIS AASH ATA SXITA 60,000,0008! 60,000,000 &
— LAl S P42 A 800,000,000 800,000,000 &
— ®MS LED DAIZAH 500,000,0002 500,000,000 &
m AZBRIH (JES=23H Al-1-2 HSAABHAD
— X ELAUSL)| QHET A 2N -3,616,00 ~3,616,000 &
— IS HERASE Whe Zy|S2l 2% -40,000,0 ~40,000,000 2
— SR SEA 28I DA 36,000,000 36,000,000 &
— MU OHE Wued| ALl ZEH &4 -42,000,000 ~42,000,000 2
m AIEBRIH (JEIS=28H Al-2-2 2olaas s
— HDYRE HAFEIZA 9,080,000 ~9,080,000 &
— OlZ0StE S FOUSXIZ AL -18,000,0008 ~18,000,000 &
— WS WY EHP AUDI SACIER DADAL -2, 1) ~2,120,000 &
m AIEBRIH (JSIS=23H Al-1-2 HSHABHAD
— FI|A =SEe| MAZA 2% -35,000,000 ~35,000,000 2
— HZUSE RNEE FHIX LXZA 2N 30, ~30,000,000 2
— HBUSE 75 A WADKMM HXZA 2 3,000,000 &
— QUSIAIERA WEYD ZTA Z 6,400,000 6,400,000 &
— g ZRME AoA HSALX 222A B 18, 18,000,000 &
— SEEPR 1'S 2 ZTHHBA Z 7,000,0 7,000,000 &
m AEBRIH (S22 H Al-1-2 HSHMBHAD
— HS LEDRA DAb 2% -223,000,0002 ~223,000,000 &
— LOIMES P4 ZA 2% -800,000,0002 ~800,000,000 &
— DA BA AIEIHES DA 29 -333,000,000 ~333,000,000 &
— ZUZH(HEY) 2DLUBAF S 514,715,000% 514,715,000 &
— TUZH(2RE) 2DLUBAF S 835,600,000% 835,600,000 &
— 29 A HE4S A S 3,528,000,0008 3,528,000,000 &
W HStRALRRY HSASZ23H Al-1-2 T B
~ 22U, WIS DIATAE HEZ A -66,000,00 ~66,000,000 &
W HStRAILRRY HSRASZISIH Al-2-2 2o/
— ANEZALZ2] ~41,600,0002 ~41,600,000 &
@ AEBRX (JSS=23H Al-1-2 HSHAHAD
— 2595 125 2 % ¢ XNoHE A2 F@F 2 100,000,000 &
— EHENGH= D OyStUCIS Al By 2HEE 4 5000 5,000,000 &
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U = 20203 HAHSE | 20203 HASE = A3t0
3X=E Gl A | 2XH=E O A < o &MEZA = 9
2 g = A) (8) (A-B)
@ NAEZLIX USISE23H Al-1-2 JSHUHATR
— NEESFXNEs L saY3 A 137,000,000 137,000,000 &
— 2tE B4 26,000,000 26,000,000 &
28l 8,791,245,000 &

4212 714,756 714,756

Zhg| 22l yl @ =z AlA8 X2 1,192,500 *43] 4,770,000 &
© NSSHLE AIOIHBHA SN2
—SXNE=x=H] 1221& * 700,000& 8,400,000 &
© FESAIE XS 22
— 'E& 2dI0l1Z DBMHEH 241" 770,000& x 1204 & *24 18,480,000 &
— 'E& =dI0IE Web/WasAltd 241 165,000 * 124 3,960,000 &
— 'St 22| M BL460C Gen9'  440,000& x12JH € 5,280,000 &
— BHADOIAE] Dell R520 MHEH 241  165,000& x12H4 3,960,000 &
— TBHADICIOf Dell R320 MHEH 14"  165,000& x 124 1,980,000 &
— "ALOIEH M-VODAIHH Dell R710 141" 165,000&x12) 1,980,000 &
— "AMOIHZHIHA AXESZ2MH Dell R720 1417 165, 1,980,000 &
— TN ZEIDICIHA B DL380 24! 132,000& %12 3,168,000 &
— "= N2 DBAIHH PowerEdge R530 141" 275,000& *1, 3,300,000 &
— "= M2 WebMH PowerEdge R530 141° 275,000 x 3,300,000 &
— "SEAECIAl HP 3PAR 14, File Controller 14 8,580,000 &
— SEUYHAAEZIX DS3512 241" 330,000 * 120 & 3,960,000 &
— A0l ZEI= AECIXl Dell MD3200 141" 220,0 2,640,000 &
— " M2 NAS AECIXl TS-453U-RP 141"  242,000& 2,904,000 &
— 'BHEAL[X| Cisco Nexus 7706 141" 1,144,000& x| 6,864,000 &
— "KNBHEALX Cisco Nexus 9372 1A% 143,000& x| 858,000 &
— "2HSEE (C3560X 741, C3750G 44! 645,000 %12 7,740,000 &
— "AZUWE S7910E(Z=E ), S7T02E(M=2)" 557, 6,684,000 &
— ‘Cisco SAN A2 Xl MDS 9148 241" 132,000& = 12H 1,584,000 &
— “Alteon 5224 L4 AKX 2410 715,000 120 & 8,580,000 &
— ‘ProCurve MSM765, MSM4600, MSM466R* 1,000,000€ 12,000,000 &
— 'POEASRIX L 2ARX (D=8 /HEIAXIR) 3 3,960,000 &
— AAE 2 2. 2AHE/AIARLIEZ /22l U L 39,600,000 &
— "EZFEHEHOAAE NF-S10°  352,000& =12 & 4,224,000 &
— ‘SN2 14 AAX] Piolink Pas4009" 572,000& 1, 6,864,000 &
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o =2 20203 HIHE | 20208 HAHE = A 3t0
= — 3X=E Gl A | 2XH=E O A CZA—E) &MEZA = 9
= g = (A) (B)

— "Edii 22| AlAE TaskQ0S N500-B10G™ 880,000€ 10,560,000 &
— SEHUYMHAATZTERON Commvault Simpana 10.0° 80 9,600,000 &
— "HIZTHAIAY SXI22=(1Server, 300 Client) & 6,600,000 &
— "HIOIEHIOIA Oracle 11g Ent®  990,000& = 12JH & 11,880,000 &
— "RAAX AIAE RCAP 2000(4User)" 418,000& %12 5,016,000 &
— "WAS OI=<I0{-JEUS, WebtoB' 385,000& 371 & 1,155,000 &
— "2t Smart =ZAAT 275,000« 1200 2 3,300,000 &
— "SEAH/SHEINZ MyBuilder RXIE2=" 645,000 *1, 7,740,000 &
— &MY S/W SensMail Ent 5.0° 687,000 *x6IH & 4,122,000 &
— RPLHSEUSAIAE AGS-NPS' 525,000 =121 = 6,300,000 &
— A0l & MXEZAAE WAS(Resin)® 407,000 4,884,000 &
— "2F3E UPS 75KVA-SHZ D& 644,000& =120 2 7,728,000 &
— '&285 0| DS-NA-100U, DS-NA-300U(E At Eet)® 7,920,000 &
— "WindowsHlE XM SAIEZ" 2,000,000&*14 2,000,000 &
— Hioled A & DHXI2tel AIAET 26,000,000 1 26,000,000 &
— 'BESTEHHAOITHOHE AlAEH SAE24 22 13,100 13,100,000 &
— ‘StMMEIAGME CMPEZ2 08 A8 22" 1 1,320,000 &
® HBEALY SXEH2E(BOHEH])

— "AHEOHSecuve TOS) 124" 682,000& =120 & 8,184,000 &
— "DDosCHS AIAE! One-d 5000 418,000 *31 2 1,254,000 &
— HOIAE AAZLIEHE AAE UBI-SAFER-PSM™ 4 5,940,000 &
— 23S TrustGuard 500P 241" 880,000 * 1201 & 10,560,000 &
— 'DBEYSIE DB-i(ABHAL) " 660,000 120 7,920,000 &
— H2SHE2IAIAE MACS® 550,000 120 & 6,600,000 &
— ‘DB SIIAIAE Vormetric® 913,000& 30 & 2,739,000 &
— "PCINCIHE S35 BLUE X-RAY™  715,000& x12J1 & 8,580,000 &
— "WEAMNOIHAMHE AFE KX TESS-5000" 605,00 7,260,000 &
— 'PCEOF FAE HH AAE Comvoy PLUST 638,00 7,656,000 &
® ‘Al-1-2° e BIHA 2= L AL DA

=&, EM = EHIE4H| 2,500,000& 23] 5,000,000 &
— @IS A2 E4Hl 1,500,000& *13 1,500,000 &
—Z2UHSAEHISXI22IH] 484, 000& x 1204 & 5,808,000 &
—desRA22idl 330,000 & x 1200 & 3,960,000 &
—&2J18t8Hd 2l W MEl 1,500,000 = 1CH 1,500,000 &
—Sof gy 2d FHIS XS =HI500,000& x 124 = 6,000,000 &
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o = 202081 | 202081099 % |~ o
— 3X= ol | 2% oty | T ME2H o
= g = (A) (B)
—2UJIH RX24 24l 8,000,000 %23l 16,000,000 &
® ‘Al-1-2 FBE BHA 2= Y AL N
— W] Q) FH| 22/H] 6,700,000 * 120 2 80,400,000 &
— 22s 22| HOAE ¥ 2T WHZAF 6,000,0 30,000,000 &
— 22|, 92018 SX22H| 3,600,0008 1248 43,200,000 &
® HZYIBRX LSS 1291 2+700,0002 8,400,000 &
® M1 ZEE ZES 98 22 722 2000H*150,000 30,000,000 &
® TORTHAAIAE STES 1290 *500,0008 6,000,000 &
® "Al2-5 OIS DEEIAIL 25
— EHOR2IZE X L4 260,000 *1274 2 3,120,000 &
® BURX2LLE
— WEIS, MAHIRME SYI| YL =LY FABE 30,000,000 &
— RS, FRS, WAHHME LRLRUED| B 9,000,000 &
— RS, FES, WAL FEME W] L BI|F 14,000,000 &
— SYE, Mels AIY XSS/ 265,0002 1,590,000 &
— 2%E, FES, WAHFEME JIHA B RX2 1,590,000 &
— 2%E, FES, WAHFEME 2YY FHH SX2 2,400,000 &
— RS, FES, WAL HME HUSRY S S 2,550,000 &
— 2%E, F2S, WAHFEME ®IA B SX2 1,590,000 &
— 2%E, F2S, WAHFEME 2| L =] 2,550,000 &
— 2%E, F2S, WAHFEME 2, CCTV B 2 6,000,000 &
® =izl
— JI2I7 22| 400,0008 %1242 4,800,000 &
— ZIIBIE 42| 400,0002 %1242 4,800,000 &
— FHAMEH SXEL2 4,000,0002 12042 48,000,000 &
m AIEBRIH (S22 H Al-1-2 HSHAHAD
— 225 220 HOAEY L RETDHZA 15,000,0) 15,000,000 &
— dued] Zyl 2 42l -20,000,0002 ~20,000,000 &
m MAEEY (JSS223H Al-1-3 ADEAHAS ~28,820,000 &
W ERH HSHS=EIAN SSNAPLUR| FHy2
— ZAXH L BN 2% 22 5,300,000 5,300,000 &
BH: 714,756,000 #
4213 715,810 635,810 80,000

e Res ]
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o =2 20208 Q1= [ 202031HGE [ . .,
= - 3X= old | 2xF oty | L TE A= o
= g = (A) (B)

— P&, ZTAE B3 A 4000m *3, 7503 15,000,000 &

— WU HELEJAIE 22 & =4 10,000,000 10,000,000 &

— &2 022 & XH Ex=Z2AF 50,000,000 50,000,000 &

— S&HA FIHE MU (BLE, LF22) 2AH 1 150,000,000 &

® ‘A1-1-3" AOIEHIHA &3 HA

— XM=, s2<2H & J1J[=2ldl4,500,000& *9 40,500,000 &

— &HIAIEE EZIY 2 660,000& *253] 16,500,000 &

— SR =2 MIZ=HMAE25,000m *330& x33] 24,750,000 &

— CGEXILH &C 0ol =25,000m x550& *23]| -2, 500,000 25,000,000 &

— SXIW =5 && 25,000m *600& 15,000,000 &

® ‘Al-1-6" SMESIIAIE I & X3 =)

— SFMEHO| Al&=2t2| 1,500,000 x43] 6,000,000 &

— 22| AMdsS B (HSAIA)" 128+5,000,0002 60,000,000 &

— =28t SHA(&EE) "AXl 2I4A*10,000,000 20,000,000 &

— ZOHQIAIE E2=d| (&KX, EXIE £)'5,000,000% 10,000,000 &

® A& Z2AFL 2t2]

— Sz, fo|ls, WA MEAE =322 A 2 4,080,000 &

— fe|ls, HAH|MMAE ol=sd S mItdet & H L1 8,160,000 &

— SUs, Aols, HAHINMAE SAAHAIE SAES 3,060,000 &

— S5, fo|s, WA MAE S & XZ 22| 8,160,000 &

© XZzeldl

— =32 2 22 2,300,000 31290 & 27,600,000 &

@ ANEZ2IH HESE23H Al-1-2 JISFFHHA R

— WU A% & 242 AF 32,000,000& 32,000,000 &

— W2 ARAIAE B HUIAIS 20,000,000 20,000,000 &
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— 24 50,0002 =312 150,000 &
— sS4 30,0003 *3%2 90,000 &
— A EH| 10,000& *20&H 200,000 &
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— 2r=r3(8] 10,0002 %10 «23] 200,000 &
— S48 68,0003 *1J1+33,000& =24 134,000 &
— EmE2 1600251008 160,000 &
©® Dt ALZ IS
— QAR X EIF E2H| 100,000& *2 Al 2+*33] 600,000 &
— FHEYI 100,000 <2 Al 2H#1 200,000 &
— 24 200,000 1 El 200,000 &
— 22 150,000 1E 150,000 &
— =2 100,000 «1E 100,000 &
— THEH| 20,0009 *10El 200,000 &
— #20F 33,0009 %174 33,000 &
— 2bSH3IH] 10,0002 %10 13] 100,000 &
® Qr=2 SHEYS
— ESYAAF 20,0008 * 10«23 400,000 &
— 2tE3IHl 10,0003 *5Y *13] 50,000 &
— XNSERE 3,0008+195 57,000 &
— #20F 33,0009 %174 33,000 &
— E24| 100,000 *2 Al 2t%33] 600,000 &
® DHEESAA 8& Yy
— HALXIZE 350,000 *33] 1,050,000 &
© CEHIAA Aoz 245 T2
— E2H| 100,000 *x2 Al 2t%23] 400,000 &
— 22 XI&Hd] 100,000& *10&*23] 2,000,000 &
— #20F 33,0008 %274 66,000 &
® S - JIBE ZHSEY
— MHIEE S2H| 100,0002 % 1Al 2++33] 300,000 &
— JIBEEH S2H| 200,0008 * 1Al 2t%23] 400,000 &
— #20F 33,0009 %374 99,000 &
@ _‘Clo_l }\|c;r|EDI-
— S2HH| 100,000 *3A| 2H25] x20 2 1,200,000 &
— 29/ DA EXIHI 600,0002 600,000 &
— HESXEY S2Z 100,000%2A1 2t<13] 200,000 &
® 50 S OHE X0
— OFEXIZU0| 28 2,4009 %302 +33] 216,000
— S2HH| 100,000 <2 Al 22 3] 400,000 &
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= g = (A) (B)
— HAYXIZ 300,000& *33] 900,000 &
@ Wst=AIIE 11,385,000 11,385,000 &
®© 3AHE ARE2IIEHEY
— E2Z2ZAIZ 200,000%2A] 2+ 400,000 &
— &8 33,000 *1I4 33,000 &
© ZHSas AREBIEFEL
— E2Z2ZAIZ 200,000%4 Al 2+ 800,000 &
— &8 33,0003 =201 66,000 &
© FUSHKEESEZD
— SLLAZ 75,000%2A1 2H*23] 300,000 &
— XE=AHEI 2,0000H*50& 100,000 &
© NMUIADIAHEXNBSEZ
— SLLAZ 75,000%2A1 2t*23] 300,000 &
— XE=AHEI 2,0000H*50& 100,000 &
®© KEACIAINBSEL
— SLLAZ 75,000%2A1 2t*33] 450,000 &
— XFZ = Al 1,0000H*50& 50,000 &
©® EZCIXQAY
— SNEE JIES 6Y*u AH421%10,000& 240,000 &
©® EZCIXQAY
— S8 L A MEX HEASE JIES 2004%10 200,000 &
@© EIA 2 1245 25,582,000 25,582,000 &
© M ZS =T
— SZE2ZAZ 150,000 x2 Al 2H*3H 900,000 &
— ZFAFAICHH] 10,0003 x5S *3IH & = 150,000 &
— &8 33,000%3M & = 99,000 &
— dZBZFAUIEZZDH2AH| 850,000 850,000 &
® 223
— HALXZ500,000%23 1,000,000 &
— SFMAICH 7,000 *40H *23] 560,000 &
© ZsA2ZE=HE
— HAYXIZ 700,000 700,000 &
— SHMAICH 7,000& %100 700,000 &
— =84l 1,200,000 1,200,000 &
— 2FAH] 2,000 *x1009 200,000 &
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— 282 200,000 200,000 &
® Tourism COP 2¢
— HSAHEZ2IIS L W= 200,000 x2 Al 2-*33] x4 2k £t 4,800,000 &
@ ZZIZFIHACIHOIE(SL)
— S2ZZ 150,000%2A] 2*43| 1,200,000 &
— &9 33,000%44 132,000 &
— ZAFAITH 10,000& *5H *43] 200,000 &
® Tourism Field Training
— SEASEZWE 150,000%2A12t%33] 900,000 &
— K= elMyl 140,000 140,000 &
@® SOotN= Hlpnw=Zz ) St=H 00| 20|
—ZAH 2 =CHE 2Iafdl: 1,000x100& 100,000 &
— M &7 Hl 500,000%2&+300,000x6 & 2,800,000 &
—3|2ldl 100,000x8& 800,000 &
—41H| 300,000*8€E! 2,400,000 &
— & 4=9 33,000%2I4 66,000 &
® ROt 832 2FAM0ILE
— 2 AFE 300,000%2H 600,000 &
— 1w SHl 200,000%3CH 600,000 &
—&1H| 5,000%150 750,000 &
© Sxust AZEDA S
—S 2l 100,000%5A] 2b*7 L #2735 7,000,000 &
@ SN UFCXNIERAM0IS H0HeI=AE
—& =8 XYl 33,000+47,000 80,000 &
— & AFHI 5,000%250H 1,250,000 &
—2FAIHl 1,500%200H 300,000 &
— DA SH| 200,000 +7E 1,400,000 &
—dl2d/0I&Hl 100,000& 1M E 100,000 &
—Xt& CHOdHl 500,000 *2CH 1,000,000 &
® SxUFW STUNS2+LHHAE
— & 4=0F HIZ&H| 33,000 24 66,000 &
— W M X2 Hl 100,000& *6E! 600,000 &
—Xt= oIMH| 5,000& *200I0 1,000,000 &
— A ELHOIA 5,000 %100 50,000 &
— ANAAMSH X244 150,000+ 44 100,000 250,000 &
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©® SN SEELWR0|cl SRS e
— 524l 100,000& *4 3] 400,000 &
— 1 EH| 400,000& *33] 1,200,000 &
© ROt HEXMZIIE2 3
—g8o3HE ZIASAHXZ 100,000&*20H 2,000,000 &
—3[2lH| 200,000& *33] 600,000 &
© SEXURY EFNSHSSSEAAMO0ILIH(1)AIDILE
—2ZAFZ2 100,000 *2 Al 2F+1H 200,000 &
— 1w EH| 250,000 =4CH 1,000,000 &
—2HAIH] 2,000 *210H 420,000 &
© SEXURY EFUISHNSSSIEAAMO0ILI(2) Bl
—ZAkHl 100,000 *2 Al 2t%5H 1,000,000 &
— W MW HEHl 250,000%4 & 1,000,000 &
—2tAIH] 2,000 *25H *43] 200,000 &
® RUS+UEN 2 =H NS AHOILE
—S2Z ZAIE 200,000%x4H 800,000 &
— &AL 5,000+ 1209 600,000 &
—& =9 H& 33,000 *1& 33,000 &
® SUSELWSI HZHEEE
—£2 200,000 *2H 400,000 &
—HAHl 170,000 *2CH 340,000 &
@© StNSEEASLRNLHENA(RL, S, 2S)
—ASLRNLHZ 10,0003 %200 2,000,000 &
© R0t FOIRAIF IS
—3|2IH| 10,000%x7H*23] 140,000 &
— M 252 150,000 *2A| 2+%23] 600,000 &
© SLU=R) SN2 IUEZ
—d&Eg XI&d| 200,000 *5H 1,000,000 &
— X2 M &H175,000& «10E 750,000 &
— & AFH 10,000 x25H 250,000 &
©® EL1RN SEXDAILEWAI=HIANER/]TS
—2HAFE] 200,000 *2 Al 2+ %23 %25 1,600,000 &
—ALAFHE] 4,000& #2410 %50H *23] 800,000 &
— W TH I &I 4,500 «50 1 +23] 450,000 &

SExus) J0eISHEIZ IHEA
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— XS JIXA 250,0002*1HIE 250,000 2
— AR ©I22/01& 100,0002 1K E 100,000 2
— XS &I AZA 50002 *3004 150,000 2
® ROSLDID SOSLDSATHAYIS
—2AFR 200,000%4% 800,000 2
— AlH| 3000%25% 23] 150,000 2
® ROIS+DIDY SLDIHIFSIIUES
— =208 100,000%6% 600,000 2
— AlH| 5,000%30 150,000 2
® S2DSN ASERI|BEE H2IEHALSY
— AlH| 10,0002 *50L 500,000 2
® ROSLDED ROSLDIERTSE S
— X2l 100,00024 10 1,000,000 &
—3/9H| 10,0008 *20 200,000 2
—&2:0t 33,0002 %1% 33,000 &
® SSCXAY
— DSAS JIEE 9007H*10,0002+Z 0/t 1,000 10,000,000 2
® DUWDP 2 ‘595" 10,875,000 10,875,000 2
® DoAY
— 20,0008 *30% 600,000 2
® 2 GRS
— 2ALR 75,0002 7 Al 2+*53] 2,625,000 &
— 2HALH| 2,000 *30E *53] 300,000 2
— B0 9 #ALFIEH| 75,0008 75,000 &
© ZZHAM 9 1145 65,962,000 65,962,000 2
® ASED AMAS
—SHMAS DR 2958 *122+25,0002! 88,500,000 &
— MBS+ BIH| 457| 2Hx20% 23] +7,0002 12,600,000 &
— AT EMYEIIKIMEH] (8*179)6,00024+(8 16,506,000 &
® UKD AAAL
— St A S DR 602 *165%25,0002 24,000,000 &
— A& 2HEBIH] 407] RH+52%7, 0002 1,400,000 &
— AT EMYEIIXIHEE 605 +8,0008! 480,000 2
® SRS 2XBU24
—ASEE T 2ALS BAI2Hx33]%100,0002 900,000
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(® =2lXI=sHdF BU HEAD EXPO
— St=XIHIZE 1588 %5,000& 790,000 &
— =MXIHE 55582, 000& 110,000 &
— S8 A 1J1*47,000& 47,000 &
— ZAHME 208%5,000& 100,000 &
(® otA skt BU HEAD EXPO
— SIETAE 1808+5,0002 900,000 &
— =MXHE 25582, 000& 50,000 &
— S==SHE 10*47,000& 47,000 &
— TAEHZE 10545,0008 50,000 &
® S=7 XSt BU HEAD EXPO
— SIETAE 1902+5,0002 950,000 &
— ZAXAE 30542,0008 60,000
— S 8H& 1J1*45,000& 45,000 &
— ZAHME 108%5,000& 50,000 &
@ 2t33 3 BU HEAD EXPO
— St=XIHIZE 702 %5,000& 350,000 &
® X|<l24sk BU HEAD EXPO
— St=XIHI& 508 %5,000& 250,000 &
— S 8HE 1J0*45,000& 45,000 &
® &HXISsH BU HEAD EXPO
—sSt= X Ml & 24092 %5,000& 1,200,000 &

— =MXIHE 508%2,000& 100,000 &
— S 8HE 1J0*47,000& 47,000 &
® 2658 LIOIE AL A A A
— BAOLHIE 3JH100,0002 300,000 &
— EAEHE 205450002 100,000 &
— ZHFUSEHE 4002+2,0002 800,000 &
— ZATIAZE 200220002 400,000 &
— LOIE AL S MAIISTY 10E+50,0002 500,000 &
— AFE} 324%70,0002 210,000 &
— BAX| 25J4%5,0002 125,000
— A 1JH#50,0002 50,000 &
— 232 329 105+10,0002 100,000 &
— J|EAl S2F 2AFE 1B #2A2E5200.0002 400,000 &
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— SIER2HE S 1809 *5,000& 900,000
© XIS o8I XIS AF & A A
— S==SHE 2I1%60,000& 120,000 &
— EAHME 308+5,000& 150,000
— = ELSEME 5082*2,000& 100,000
— =MXIHZE 150%*2,000& 300,000 &
— dAAMESF2Y 705+6,000& 420,000
— 2237 305+*30,000& 900,000
— St SHl 60 *5,000& 300,000 &
@ j\_}-§§|¥ﬂ+ i/\lxl bkj}—
— OI2fH| 3005 *1,000& *x23] 600, 000
@® 2581 URSIISXSHE g2
— ZAtE 3%%100,000& 300,000
(® BASE Specialty(2lEHAZ & NASHSZZ )N
— ZAtE 20A12+*6I0 & S+100,000& 12,000,000 &
@© 2tS& ) HNAMD|GSUS T2 N (IIx)
— ZAIE 209 *8Al2tx23]x20,000& 6,400,000
— ZAFAIH] 2029 %23|%10,000& 400,000 &
— 2t 3IH] 259 %23|+8,000& 400,000
@© 2t5& 0 N AD|GSUS T2 O3 (A S
— ZAIE 14Z*8A12tx23]x20,000& 4,480,000 &
— ZAFAIH] 15Z %23 %10,000& 300,000
— 2t 3Hl 202 %23 +8,000& 320,000
@© 2t58 0 FgHdeAdsizz
— KALSEZ Qg1 =H| 1209 %20,000& 2,400,000 &
— BLSEZZ2 & W=H| 180 30,000 5,400,000 &
@ ASEHNFHI|AS
— W=Hl 100"¥*50,000& 5,000,000 &
— 2t SIH] 29001250, 000 100,000 &
@ SEMUMHNSIIZHEL (0t 2ts, )
— ZAIE3G*2A12t%200, 000& 1,200,000 &
— &£=8 4J1%50,000& 200,000 &
@© 2t5s ) AZusHd 2 Wiigs ol
— ASDUMINES 2l 108 %1031%10,000& 1,000,000 &
— A s HEINESOIH] 10H+25]+10,000& 200,000 &
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© ES0XIAY
— DEAS JEE 500H+10,0008+28¢D] 10,000,000
® Algi4 9 532F" 192,699,000 192,699,000 &
© SDHTASUTNLYEH T (S2HS)
—ASUNUYE 10,0009 +40Y 400,000 &
® SAHSDSD BHOsTH
—THEI &0t DEHI 6000002 <43 2,400,000 &
—CHSI &t AlH| 5,0008%18% 163! 1,440,000 2
—CHSI &t 2kAH| 1,5009 %18 *83] 216,000 &
—CHSI &t =8tHl 30,0009 %74 %42 840,000 &
—80|5 EAAYl 4,0008 %18 23] 144,000 &
—S1J|5 &2l 1,0002%18%+23] 36,000 2
— SIS EAAY| 4,0009 %18 23] 144,000 &
—9StE 2 R2AAH| 1,000 <18 *23) 36,000 2
© SHHSDSDY V2ELHSILH 0L
—MSAA ZAE 300,000 <4 1,200,000 &
—SI3&29 AlYl 5,0002 %60 300,000 &
—NREHTESLQ BN AEY 20,0008 10 200,000 2
—oIZH BEHE ABH| 20,0002 +10% 200,000 2

— S 29I Y 50,0008 %% 100,000 &

® SAUSLSDY AALUUSH ZOH0tS
—ZOHJLE AlHl 5,0008 %50 250,000 2
—AFZQUH| 30,0002+ 107K 300,000 &
® %32 9 "33 23,338,008 23,338,000 &
® E2CRAAY
— DSAS JEE 62+47H*10,0008 240,000 &
® &1 2 1435 283,437,0008 283,437,000 &
® UNoIaRsAs o2 I 20l S
— 2 AHH] AIZLCIXIQI B 15]%2A124%100,00024 200,000 &
— 2 AMEI QIEIRIOICIXFQI® B 25]%2 Al 2H+100, 0008 400,000 &
—ZAMHI AFICIRIQIM EZ 53]+ 12%2A1 2100, 0008 1,000,000 &
® CNQIARASASTZ I & XA
—MCIXRIFE BAYRE 1,080,0002 1,080,000 &
—QIH2I0ICIXES BAYXS 60,0008 660,000 &
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—ADEH L 0204 84,0008 84,000 &
® CIXtoIFooiensina e nXo|L+2 98 =2
— 1 *3A12t%75,000& 225,000 &
© IOl ooiansina e NSASAX U o
—DSASAT U HEFE 7H2 84,000 &
HNzw =2
I ot=™= ZFAFE] 200,000& *2 Al 2H%23] 800,000 &
SANZEEZ 2ZAHE] 200,000 *2 Al 2Hx23] 800,000 &
AEZSUNZ 2 Al 800,000& 23] ,600,000 &
AJlMl=&Z2 2 AHHl 200,000 *2 Al 2H%23] 800,000 &
OO, SXNLHZ AlQMeI=3]
CIMES(ZAH) 500,000 500,000 &
NHLQIAA 15¥%5,000& 75,000 &
ARSOME A=
S8 2 XX 2,000,000 ,000,000 &
NSHQIAA 209 %5,000& 100,000 &
OIME(EAE, T272) 1,000,000 ,000,000 &
40 H=x22% 170,000 170,000 &
L
CIME(EAH,Z=272) 500,000 500,000 &
S50 fl=digds 2= 210,000 210,000 &
NP A 15H*33]x5,000& 225,000 &
pJEET
CIMES(ZEAH,=27024) 1,300,000 ,300,000 &
A0 GSHEE 2 210,000 210,000 &
QA AL 152%33]+5,0002 295,000
Sot)Y Zooixs
OIME(EAR, T2@) 1,500,000 ,500,000 &
A0 GBS 2 210,000 210,000 &
QA AL 152%53]+5,0002 375,000 &
NDURHI|F(SXNLH2 FHIZHA)
STHRIE 4,115,000 4,115,000 &
Xo o SEAX 4,500,000 4,500,000 &
oAb 2 AZ R 3,100,000 ,100,000 &
— 340 OlES 150, 0002 150,000 &
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CIMES(EZAH, Z208) 1,000,000 1,000,000 &
X3 @ W2 1,000,000 1,000,000 &
LD (DXZE 2=2A)
oIME(ZE20e TAH, MEX]) 1,000,000 1,000,000 &
S8 2 XYAEE 1,500,000 1,500,000 &
D02 £F 1,000,000 1,000,000 &
DAZ 1,000,000 1,000,000 &
sS40 i=Uss Y 270,000 270,000 &
LD (2XZ HEH)
OIMS(EZAH,2IERH) 23%500,000 1,000,000 &
SRR 25]%1,000,0002 2,000,000 &
ARSOND EY0ITS U =20 0fHl
=8 QHYIOIE 21AHH| 200,000 200,000 &
S| Y EIF AAH| 50,0002 %103 500,000 &
&I SSEEIF A AE]l 50,0003 *203] 1,000,000 &
S| AHRPA 2FAIH|] 1,500& *5H +63] 45,000 &
&I RSP 2FAH] 1,500 x5 *203] 150,000 &
&I RHRRI A 5,000 *7H*153] 525,000 &
S)| IMS(ZAH, Z278) 500,000 500,000 &
MO CIMS(ZAH, ZZ2703) 500,000 500,000 &
Sa0 BMES JI2E 200,0008 200,000 &
S1=8F HAICH 47,000 47,000 &
ASSOET 13 HIIDO(HEZ Y
22 2 S8 X®™EH| 2,070,000 2,070,000 &
oAl 2 OJAHZ HIZ 1,800,000 1,800,000 &
CD T AHIZ 1,200,000 1,200,000 &
CDXI3! CIXOIHIE 500,000 500,000 &
QA AAI(01A!) 32%100,0009! 300,000 &
QUG AIAI(24]) 38%200,0008! 600,000 &
NSO A 25%25%«5,0002 250,000
XSGR 2HAIH| 25]%252x 1,500 75,000 €
SR ALY 33]+20% 5,000 300,000 &
HACHEH| 500,000 500,000 &
OIME(EAE, T272) 1,000,000 1,000,000 &
B0 OIS 132 0002 132,000 &
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— S8 2SEAAIL 47,000 47,000 &
© ABSUFZ 28| HI|ZO(ME AHOIA)
— &= & 3 Z=™H| 2,070,000& 2,070,000 &
— QUI& AlAM| 310,000 300,000 &
— NP A 23[*25H x5,000& 250,000 &
— ZS58sM Al 33%x20H *5,000& 300,000 &
— HACHEHE|l 500,000 500,000 &
— QMS(ZAH,Z20&) 800,000 800,000 &
— #aotoi=E 132,000 132,000 &
— S8 2SEAAIL 47,000 47,000 &
® ARSOMZ YAES I 2o
— NI A 50003 %53 x20H x25H )| 1,000,000 &
© YSHMND SAXE AT
— B0 ANBHSD U 50,0002 50,000 &
— QIME(ZEAE) 200,000 200,000 &
— @Iyl Al 9Bl AILH 102%10,000 100,000 &
— ME2HIIX 2HE 3¥*150,000& 450,000 &
— DVORMIR 2 S=XA 1,000,000 1,000,000 &
— NI A 5¥*43|%5, 000& 100,000 &
® YSAMNZ FHI|SMA
— B0 ANBHESD U 2 50,0002 50,000 &
— Ol (EAE) 200,000 200,000 &
— @Iyl Al 9Bl ALY 102%10,0008 100,000 &
— ME2HIIX 2HE 3¥*150,000& 450,000 &
— DVORMIE 2 S=XA 1,000,000 1,000,000 &
— QY ALY 5%«45|+5,000 100,000 &
® CIIENZ I2M L HAEY =)}
— QIME(EAE,ZZ78) 600,000 600,000 &
® CIIENZ AlMEol
— OIME(EAE, Z278) 500,000 500,000 &
— HIZH| 500,000 500,000 &
OR=PIl Er-E==PIE=1=
— QIME(EAE, ZTZ8) 2,500,000 2,500,000 &
— oAb U AE 2,500,0008 2,500,000 &
— SR A 5,000,000 5,000,000 &
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I EFEEP ERIEEES))
— QMS(ZAH,Z2702) 800,000 800,000 &
— SOHAZ 1,700,000 1,700,000 &
— oAb Y A 1,300,000 1,300,000 &
® SIS =H /=AY
— Xy 28%600,000& *23] 2,400,000 &
® SAY 9 ‘54=" 61,583,000 61,583,000 &
® SE 9 ‘585 120,445,000 120,445,000 &
® GHHAZXDUSUAIY GIHAZZNY=2Y
—ANE0I2LEHIHH, SAHIS 130%+90,000 11,700,000 &
® OISEHESNEAISAAY OIREHESXEAF T
—ANE0I2LBHSSHIS (2K 10%+77,0009 )+( A A 2,170,000 &
© M ATIIINCASHEAIY SMATXTEAN WIS
— A 0| 2YEH|CHO S (320 +A 2120 ) %90, 000 3,600,000 &
© AZHSINSLAY AZIATY | || DB2SY
—AE02LAEHIHHS (M M2H+A H20H+E A EH202 8,775,000 &
©® SONCASLSAIY 20 DA=22Y
— A0 2YEH O S (3 H20H+S A EH202 ) *100, 00| 4,000,000 &
® AAYUNESASDYASAY 2AYMESAS T
—AE0IELEHIHAHS HlM20H*135,000& 2,700,000 &
® SATENCAISAAIY QAHATXND SALS
— 4020, 0002 800,000 &
© ATRADBESHUSIAY ATRA)| S22
—100% 20,0002 2,000,000 &
® HMSUHIIHSAUAY HSHESY SHAIS A
—29H| 1,000,000 1,000,000 &
© ATRBEE ABAMSUSAY ATRHLBRMND
—29H| 100 11,0002 1,100,000 &
@© AZXOTZ)HIEHLAIY AEZXTIZ ST EH
—ATEALBRINE HEESHIS (20%+70,0002) 1,400,000 &
—EHACHD A A S(302%50,0008 ) 1,500,000 &
® HIDDHAZTEALZSIAIY SH|
—AMATEAISEZ 90 #10,0002 900,000 &
—AREALBRINEZ 100 *18,0002 1,800,000 &
—SAEAT XD 402*50,0008 2,000,000 &
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—EHHRACANZ =ALE3 5089+10,000¢ 500,000 &
—HEEAS FHEES 508%10,000& 500,000 &
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— Dol AMAYMARS] =YY AH| 7,0008 <20 700,000 &
— D2 AMAYMARS] ZA] 1,000,0008 x2S 2,000,000 &
® =4
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— X242/ 22 A A XHH] 300,0002 *1CH 300,000 &
— XU REAZEREH| 20,0008 20 40,000 &
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— SUHKKZEZOYINY 235,243,849, A& E>4,5 9,000,000 &
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®© SZ2YCIMSHAIY : M AdiEE 200,00 400,000 &
© JIE SMXAAY
— Qc2/YHIOI& Crak 300Y 2,000 x23|+E 2= 4Y *, 2,000,000 &
— MU M=HA S XIAHl 4,000,000 4,000,000 &
— WSUHEE AHAM=AE 500,000 %204 8| 1,000,000 &
© U@ 2 HZE 800F 5,000 4,000,000 &
® =23&d X
— JHES W 2ZARH] 100,000x5H *2 Al 2t*53=%25t | 10,000,000 &
— =& W 2ZAF AlH] & 2FAIH] 140,000%53= %25 )| 1,400,000 &
— JHES W I 2,500%1,000F 28 D] 5,000,000 &
— &S W HALEEH] 600,000%28 J| 1,200,000 &
— Jf&E St =8| 20,000%x15Y %25t D| 600,000 &
® ZA=2AF XK
— S A=A X2l 250,000 & 15825 )| 7,500,000 &
— wW=s4 X&Hdl 300,000& *2st 7| 600,000 &
®© [ZHRR] ol & st XI&H]l 5,000 *200EA 1,000,000 &
@ NS JAME HaSES33H B4-3-2 HOHEHA
— HOEM HI|=E MS 20A12t%30,0003 *15F=+3Y 27,000,000 &
m N2 HESSE23H A2-1-1 BHEduNsLZZ]
— EA=AF 24| -18,718,000& -18,718,000 &
— j:f/\F%Iﬂ -3,300,000& -3,300,000 &
— N =33 5,292,000 -5,292,000 &
— XH%]_VE,‘DD' 29 -4,400,000& -4,400,000 &
m NESSHLE HSSE23IH B4-3-1 S&5s2
— OISt AXIJAE oldtez HE -23,950,000 -23,950,000 &
m AISIZSAMHE HStS222IH C2-2-2 KIS AISI 2 A}
— AMISMBSR2EZZ I -26,427,000& 26,427,000 &
] AISISALMIE UHSHEEZ23IH C2-3-1 A HO0ICHAS
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— BAABIZ A 29 3,990,000 3,990,000 &
— NG AIgSAES -4,750,000& 4,750,000 &
W AFSISAIMIE IStS=23|H D2-3-1 HRAZAIZ 2
— OHRASAIEE IHA -2,950,000& -2,950,000 &
W OIAILS (HEIS=25|H B2-2-2 sHAlGiEAGE
— BAQIEH A0{ -1,160,000¢ 1,160,000 &
— S-PIPES Q1A Qi <1Z> -9,709,000% 9,709,000 &
— MZBOoIMHdEeAHSE <2F> 21,314,000 21,314,000 &
— OIARITI Al A MOl A A 2 WIS —15 660, 0002 15,660,000 ¥
— QI TWRARIIZICA A ~180,0008 ~180,000 &
W OIAIYS (HEIS=25|H B2-2-3 QI AE S| m
— QIAEAL Y 24 -620,0009 -620,000 &
W OIAI S (IEIS=25|H B3-2-1 S (MB)EH
— NMZB0olM 2lHA W= -4,800,000& -4,800,000 &
— Ol Ol HsSEHHA<E BSE 22> -1,440,0 -1,440,000 &
W OIAINLS HEIS=25|H (2-2-2 KSAISI AT
— QIHAMTY -510,0008 510,000 &
— BAOIMOIAl -680,0008 680,000 &
W OIAINYE (IES=25|H (2-3-2 N2 ste Ay
— BHAMDASE 5,720,000 5,720,000 &
@ A ISIS=23|H £3-1-2 SHMRIXI D RO A A
— ZY Al -4,000,0002 4,000,000 &
— Jels& -56,000,000 -56,000,000 &
— HEREFBAF -9,000,0002 9,000,000 &
— EQeel —500,0008 500,000 &
— HISWU3l -23,400,000 23,400,000 &

B 636,275,000 &
4329 1,400,481 1,400,009 472
JIEFEHA A H| ® QROIstA Mgt 2ip

— QIZOISEM ASRIE 1502 %10,000 «23] 3,000,000 &
— TP AHOTYAA T2 29H| 300,000 300,000 &
— HE ZAUAE S QZOISEM AL 20,0008 6,000,000 &
— Q|ZOISEM HE U JIEFSAF 50,0002 %150 7,500,000 &
— FOWMT20H| 10,0002 *1002 *13] 1,000,000 &
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— ZIE=NZ HAE(OIE S MZE) 50,0002+35 3,500,000 &
— YEIIZ = SEAY 20,0008 «150 3,000,000 &
— QZ|AUHO0IA, HAUHEWNE S ZIIEFX A 1,000,000 &
— E'2 550,000%3CH*23] 3,300,000 &
— ‘ZoIstMol LH(HKUE =)' 20,0008 %1502 3,000,000 &
@ stExseyl
— JI=nsg: 3,200,000& %23 6,400,000 &
— HESsE: 2,450,000 *23] 4,900,000 &
— APBIEXIEE: 3,800,0002 23 7,600,000 &
— &S 2,000,000 *23] 4,000,000 &
— dasrE 2,600,000 23] 5,200,000 &
— AFESE: 3,200,000& *23] 6,400,000 &
— 2% 2 QIMIEIE: 750,000 x4 st 3,000,000 &
© LASHYRZ0|
— =N HHEE 0|2 B4A2: 11,5002 1,300 14,950,000 &
® stExseyl
— Z2ZstE: 3,070,000 23] 6,140,000 &
— ICTEH2: 3,400,0008%23] 6,800,000 &
— BSR4 500,000 %23 9,000,000 &
— CIXQIGASHS: 3,000,0008 *23] 6,000,000 &
— AEXPYSHE: 2,000,000 %23 4,000,000 &
— 23t0=s2: 2,500,000 %23 5,000,000 &
— BAISEEE: 1,000,002 23 2,000,000 &
® DEVJHSY
— DR ADSHZ F=10,0008 <305 300,000 &
—DE HHUQINHA SHA A 1,200 5002 600,000 &
—DAANSANG| QSN ZE 150,000 «23] 300,000 &
—STHILAHAMS D8 ZASS SJH| 600,00 9,000,000 &
® DALSI|2TI}
— XA S DAl Z=HIAHI 10,0002 %533] « 152 7,950,000 &
—RHHIZ OIS DAl Z=H| 2HAIH] 2,00080 %243« 155 720,000 &
~RHEIE DA ME L ADQEH 1,647,000 1,647,000 &
—DEYHI|BAZECH HAEH| 1,000,000 1,000,000 &
— DAL BAZRCH HEYRC AH| 600,0002 600,000 &
— DA ISR CH BAS2CH ADEH| 3.400.0) 3,400,000 &
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—DASAI| 2SI MR AR 8,350 *582 +6 5,812,000 &
® st e
— BHAMIPFAIH|: 3,500 2,000 7,000,000 &
— DA 15122 +8,000 1,440,000 &
— BHAIZAZH|: 122 #20H*30,0008 720,000 &
— BARMY: 15]%1,000,0008 1,000,000 &
— BAAXAY: 13]+1,000,0008 1,000,000 &
— OIHI2XIS 2 2P 38| 13]%300,000 300,000 &
— I 2ZH|: 131%200,000¢ 200,000 &
® oldl2 FHIIZA
— AlH]: 52%22%10,000 100,000 &
— ZLAF BH|: 131%100,0002 100,000 &
® o nssd
— DI WS RS 15]%300,0002 300,000 &
© WADH (S2H)
— A =HIH] 13/*500,000& 500,000 &
— ALAH| 2009 (BB M, J}E)*20,0008 4,000,000 &
— XISSHH 13]%200,000! 200,000 &
® =2M K03
— Z=HIH| 13/%500,000& 500,000 &
— LAl AIARH] 65%%10,000€ 650,000
— 28M HX= HE 35%%50,000& 1,750,000 &
® Mx2ess
— NX22SE 2= 7| 25/%200,0002 400,000 &
— NX2DR 22 2023 282 #43]%10,000 1,120,000 &
© ER(HASAR) 12D Y2BE 15]%1,000,0008 1,000,000 &
® 28 NE B=H| 3%«43|+200,0002 2,400,000 &
® oI 223
— DS EHIHl 15]%500,0002 500,000 &
— ALAH] 70 %44!%20,0002 5,600,000 &
— Y| 70%+10,0002 700,000 &
— BA UXE 20H*22*500,000% 2,000,000 &
® ofE BE Ast
— ALAMHI 65 %10,0002 650,000 &
— BA AXE 205000002 1,000,000 &
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© ohel TALRA g 341,000,000 34,000,000 2
® =g 2o
— SHieel T3l 25]200,0008 400,000 2
— ot 2l (H22) 15/%500,0002 500,000 2
® 81 Y
— WS F=H| 35210,0008 350,000 2
— gsd SEPY 35%+20,0008 700,000 2
— MHDF AAH| 352+641%10,0002 2,100,000 &
— QA 2424 ALAMH| 3521%10,0002 350,000 2
—~ S9M QA 924 35%+10,0002 350,000 2
— |4 2424 ALAMH| 3521%10,0002 350,000 2
— 2t QB R ZHIH| 13]%500,0008 500,000 2
® =N Yy =
— DS FH| 652%10,000 650,000 2
— UYEY 2E 7 652%20,0002 1,300,000 &
— MM A L AA| 652 x641%10,0002 3,900,000 &
— QA 2424 ALAMH| 6521%10,0002 650,000 2
— S5 24| 652%10,0002 650,000 2
— §|A 2424 ALAMH] 6521%10,0002 650,000 2
~ HEZ 2H2YH| 5H6S+1,5002 585,000 2
— 2t2 odmE ZH|H| 131%500,0009 500,000 2
®© =24 ¢
— B9 13 100%+3,0002 300,000 2
— AT A2X MER P2 655+ 500845008 488,000 2
— SDIIEE, WX, REHE 352x1&+50,0002 1,750,000 &
® DU 22 F8 I}
— MHDF AAH| 312x541%10,0002 1,550,000 &
— O} 9 ALAMH] 3121%10,0002 310,000 &
— M =T BRI 1Ex22+50,0002 100,000 &
© =24 53 L A F5HA
— 2oth) K@ 15]%200,0002 200,000 &
— =5} 015l 1502410,0008! 1,500,000 &
— 2P ZTX = ALAF 1502%10,0002 1,500,000 &
— AB 2 =t 49 MR 294200,0002 400,000 2
— OHUR HIX 100841, 1008 110,000 2
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IEE(2HEE) AR 31H#12,0008 372,000 &
StZ2CHE A4S HE 4IH%50,000& 200,000 &
UBX HIH(HZ2EZ)RIE 15]%200,0002 200,000 &
o =8
=2 20 FZ 374%100,0002 300,000 &
HblE=24 Ale=H ZAFE 28 %53/%100,000& 1,000,000 &
Of 24 =22 X2 3H*23]+1,000,0008 6,000,000 &
st XA EMws 204 2 AARH] 158 %104 1,500,000 &
st X2 XM= ZHl81 1&8/+300,0002 300,000 &
oo
& o2t AARE] 15Y8x13/%20, 000& 300,000 &
oA Tl 15%+30,000 450,000 &
N E
NI AHZAN HA X2 20H*400, 000 800,000 &
XX ARIZ AL 2HAIH] 758%10,0002 750,000 &
SEM Ao, 22 AHZBAF HA 2 XE 20H+400, ! 800,000 &
SEM HY, A2 AHBAF ZHAIH] 65%%10,000 650,000 &
st o st2Ct B2 #AL
StRCH NS W) SHAF AI”E s F2Hl 29H%150,! 300,000 &
SIRCH B D) BA NI HE2E 2| 344 240,000
st 2282 #8 ME 3I4x70,000& 210,000 &
GIHIB 2T AZDS
S2 U I ZFH| 64 #45]%2,0009 512,000 &
NS 2= ZH|H| 25]%44,0008 88,000 &
it OI0IX M &= 23t
BLE O1Z=3| AL} 6,0002 *70 <43 1,680,000 &
B ACHO! 40,0008 *2CH *43] 3,200,000 &
X . B 2H| 250,0008%13] 250,000
HENZME 300,000 «63] 1,800,000 &
HEEE 2,000 +70% 43 560,000 &
J=mols oz st
DU A RS AITH 6,0009 +702 *63] 2,520,000 &
HACHO! 150,00084 %2CH*13] 300,000 &
= . B2H| 100,0008*13] 100,000 &
=X EIZ 300, 0008 23] 600,000 &
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— OtAEHZHA 2 MOILE 250,000 12! 250,000 &
@ BHEIC 2oRp MEEI 25
— AP A =H] 50,000 *65H 63| 19,500,000 &
— H79E AW 6,000&*70Z2+153] 6,300,000 &
— G120 Ab 200,0002 20 4,000,000 &
® SHORIAY
— FUR2XYH JIYHLE IS E 360I4%20,000 7,200,000 &
® SHORIAY
— SIRCH SEM QR oBASH Z2H JIEE 120 1,200,000 &
® SHORIAY
— BIRCH MI2A O 28 NESE 30J4+10,0002 300,000 &
® SHORIAY
— BIRCHSEMN DF U M8 BRCHE 0], HAUA 400,000 &
® SHORIAY
— SIAMMSIAICIHIE RIAGY L FHAAHADS JIEE 600,000 &
® M2AAAY &Y 2
— EIMH Alg2dE ADSE 12HE *200,000& 2,400,000 &
— HIOIHAD| SAIE2 12I1&%130,000& 1,560,000 &
— JIE} RIEH 2Z 40,0008 40,000 &
® HAXLAY 014, A2, [27Y, HUz
— 3 BRETE W2 400220002 800,000 &
— AT 1,00081,000 1,000,000 &
— X2 A2, HIIZHHME 100,0008 «127H 2 1,200,000 &
— FAT A 302%20,000 600,000
— EYE 2 0004 H*5002 1,000,000 &
— 29H| 160,000 160,000 &
® SHAAHIA
— HESYUZAIAE SX B4 12J42*330,0002 3,960,000 &
— HEYYZ BE AQZEH 42D(+1,200,0002 4,800,000 &
— ZYMEX 2 10,000% <552 550,000 &
© M2XIAY MEZY 2D U D22 29
— WIAHAIRD, 2tA, 2YH S 70,0008 %1502 10,500,000 &
— MNZT28 29 400,0008 *503] 20,000,000 &
©® FAXAAY OITHS A 2
— 294H| 500,000%! *23] 1,000,000 &
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— HeE NS & 303 *30,000& 23] 1,800,000 &
— )12t =2 NEE 55%10,0003 1290 & 600,000 &
— QOIgyi2rel XI&tdl 100,000& *103] 1,000,000 &
— BHAOITHEE 2t S 50 +7,000& *23] 700,000 &
— AZ A 2tE 3] 50 +7,000& *23] 700,000 &
— BUAOITHEE 22| 300,0008 42| 1,200,000 &
® ZHAXAIY ZQJEtM T2 29
— St2(1h)g FAXNZAOILE ZAI2, 2HHl S 1. 13,200,000 &
— UES J|YH USEL 45000 X+65,000 29,250,000 &
® FAXAY FUXY T2 W 29
— WIAIE AFRE 2tAl, 2YH| S 70,0008 %2002 14,000,000 &
— FHomaOw, ) X2 = 2% 400,0002 40,000,000 &
— =022 4078+1,000,0002 40,000,000 &
— NED4 9438, 296 S 10,000,000 10,000,000 &
® FHAXAS AKX B2
— FHEHIZAI2ZEH| 202 %103/*%10,000& 2,000,000 &
— FHAEHEAE S| 30 «103]%10,0002 3,000,000 &
© AlQUM AEH L AQ EA
— MM AIE U AQ EAHEAH1Z#1,000,0008) 1,000,000 &
— MM AR Y 5 ZAHESTME<220] 5,000 %100 500,000 &
— MM AR Y ZA(EALA M 702%10,00 700,000 &
® WROEC ZA
— DSOECEANDY ZBEAH 22+1,000,0008) 2,000,000 &
— WKOESZIAH(ER0] Z224Hl 100A12Hx5,000€ 500,000 &
— DSOFECEANFGI &0 A AZA HIE 24| 240,000
© HADDAAZN (USHAX2IME ALY
— B XI2IMEl AFY 2DHS 175,000,000 175,000,000 &
N2XAAY DEAALAS DS
— 938 150,000 «30 4,500,000 &
— HAMI] 29 50,0008 <180 9,000,000 &
® F2ALAY HAX D 29
— MNEHAG HAEE 0I2H|, B, gNZ S 120,000,000 &
® A BE U HARE S
— SIAX 9,500,0008 * 12042 114,000,000 &
— Br5HR 3,000,000 * 8JH2 24,000,000 &
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— =04 2,000,000& * 33| 6,000,000 &
— HAEZZ S 100,000& * 504 5,000,000 &
— SBHEEIZ AHOIA 22001 = 70,000 15,400,000 &
— &88Z HOIA 1,030 ~ 15,000 15,450,000 &
® SHASX2 HIZSXZ2IHl 257]%2,000,0008 4,000,000 &
® WEEA BEQACIAH| 90009 *2= THOA| 2t 10 14,400,000 &
® 2HA oJorE 19| 25H]|x1,500,000 3,000,000 &
® SH LI 1650H*12TH & +30,0002 59,400,000 &
© MEAb A223
— &t A £IHHI0OIM 48] 500,000& *23] 1,000,000 &
— AOIZECHOIE s 22 H] 22,000 *x23]*153=*3A 1,980,000 &
— AOIZE2t0F ZAHE] 40,000 *2A| 2tx 153 1,200,000 &
— AMEAHOE AHHIAE 270,000 x6 15 1,620,000 &
— AP A FAT| ZRIHIZ 300,0009 #2580 %2 1,200,000 &
— AMEAN WE 2ZAIZ 100,000 *6A| 2Fx23] 1,200,000 &
® OlHICHEH (AlQMRICIT2 )
— JIESETCGAA SH L 2AH: 4D2+400,0009 3,200,000 &
— AlE THE & EZH|: 200,000& *23] 400,000 &
— 23, QA, S48 500,000&*13] 500,000 &
— 2FAI 1 5002 *3,000H 23] 9,000,000 &
® WABES
— st E) &2 WIHAZE: 11,5008 %3,300H 4,950,000 &
® WAES D
— FESY XNE W JHE AFHl: 300,000 *7H 2,100,000 &
— FZYD T2 DM 39 L M=l 500,000 500,000 &
— D T2 DRI 3, 12523, 2002 10,000,000 &
® DUYDSHE HE AR
— SIMAHIIE 29 304=+1,000,0002 204 37| 6,000,000 &
® o7 Y =D
— BAMSIIRIE 2 ETH| 1,000,0002 %13 1,000,000 &
— AAIX ETD2 50,0008 <4 200,000 &
— =2 £712 50,0008 *4Y 200,000
— OIZ DA ME 1,500 4002 600,000 &
— AAIX AZOIME RIE 8,0008 1005 +13] 800,000 &
® Al2|AtE
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— M2l ZA 240 4,5009 +3005 1,350,000 &
— MElAE Ts 29H| 100,000 «30= 3,000,000 &
— NFAEA A S 25,000 *8Al 2Ex52 30 30,000,000 &
— JChArE Righ 2 TH= 4| 60,000& 158 CHx2st )| 1,800,000 &
— delEAF EF7 & HAFK P20 5,000& #8002 4,000,000 &
— WAMCHA} DEH @UY 52x10,0002 +8AI 2153 12,000,000 &
® LEHAM
— SISTDEAMSAMCAL ASE 25 0008 x22 «8A| 2H%30 12,000,000 &
— HOPI=aeE &E 2 TH=H| 300,000 & *23) 600,000 &
— =Y FSUAME 50,0003 *60A12F 3,000,000 &
— A =R XA 4 H| 600,000& *2H 1,200,000 &
— AE AQEAN A2 HME 5002%1,0008 500,000 &
— A® AQEAN ET 10,0008 5508 500,000 &
— stEY QrES XCT 23 500,000 <85S 4,000,000 &
— QEESAG &3 [olH| 2 oIAH| 2,000,000 2,000,000 &
— OrESAMC AlelEAF =7 2 (mmpi 2 AKXl 4,500€ 3,450,000 &
— MEtA SEAHIT =K E 30,0008 x33|x301x23] 540,000 &
— OF2FAFE AFTHE 30,0002 %201 +3A| 2+ =32 %30 % 16,200,000 &
® Z0lY L HAHY
— ogtns 94| 700,000 %23 1,400,000 &
— 2223 72 1,000&*1,00004*23] 2,000,000 &
— =288 HZ& 70,0003 *2)4*23] 280,000 &
— g ns E2H| 300,000& x4 Al 2t*23] 2,400,000 &
© AJQATCSAUSIAIY (HS2E) HEIEH
—AlH| 52 %52«63| x3A1%7 000 3,150,000 &
—2HAIH| 552 +63]+2, 0002 300,000 &
— 25 8HH| 3A!x48+63] 50, 0002 3,600,000 &
—SZHLEH0IEH| 63]%200,0002 1,200,000 &
—22H| 542 *63]+5,0002 600,000 &
— SIS 21| 35]%50,0002 150,000 &
® AJATHLASIAIY (ASYE) 3 5
— 534420, 0002 2,100,000 &
® AJATHTASIAIY (HSYE)
—AlH| 52 %102 «3417,0002 1,050,000 &
—2HALH| 581%102 %2 0008 100,000 &
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— ==l 38:9%450,0008 1,350,000 &
HIZ S H 0l EHI 260,000 260,000 &
® A'J|$¢x+°='aw SA (=2 E) o2 ¥ B4 343,000 &
® AJI2ATUBASIAIN (ASBE) 28 L ABES
3228 52165, 0008 825,000 &
—BHEE| 5&+47,0008 235,000 &
—BHHEX] 5 +66,0008 330,000 &
— Algt= 521%185,0002 925,000 &
—2E2 2l 52180,0008 900,000 &
© AIRLTABABA (HERIEE) HEIEH
_ALHI 724472 %631 +3AIx7 0008 6,174,000 &
—2HAH| 772 %631 %2, 0002 588,000 &
— 5 8HY| 441665 x50, 0002 7,200,000 &
— S EBILEH| 632000008 1,200,000 &
— =2 72432 <63115,000%! 630,000 &
® AIRLTABASA (HERIEE) MXE
ZALHI 724%102*3 4147, 0002 1,470,000 &
—2bAIH| 72%102*2,0002 140,000 &
—258tH| 4A1%98Hx50, 0002 1,800,000 &
—~DEHI, BE 102*120,0002 1,200,000 &
~S2HIYEH 260,0002 260,000 &
® AJISATAUBUSIAIL (BEDIEE) SRLATES
— 231 QUH| 4412 4,937,0002 4,937,000 &
—BYSQIE 3 72%150,0002 1,050,000 &
—AIBH= BHHEX] 72 %42 %50,0002 1,400,000 &
—AIBHE BHEFE| 72 %42 x50,0002 1,400,000 &
—252 F2ld 78142,0008 994,000 &
® AJI2ATASASIAIL (BERIEE) olgH s+ 341,000 &
® AJISA TR L AL (HCOIES T oIE B 3 500,000 &
® BRCZRLOTYS LA
—EHH OIS AAIY EHR OS] &I} 5024+8,0002 * 3,100,000 &
® M= SIS HIF
— BFIIS 3002 *900JHHAF3, 00021 ¥5007H+2] 2250, 00 2,520,000 &
— JISYSIIRX 24 100,0008 * 12742 1,200,000 &
@ stu=TA 2
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fNels, BHAY|MAME SHEA 8BSk, 16,200,000 &
— fels, BAH|INMAE SIEASEE P 25,000,000 &
— , dNels, WAHIMNEH ) SA2 10,800,000 &
® [2HLE] =225 50,0002 «50% x5t | 5,000,000 &
& ZHDEY WBIE=23H D122 QRoINSTZ
— 2t 2% H| 500,000 500,000 &
— 2t wEH| 210,000 210,000 &
® DSAVBLIME HESES25H A5-2-2 (EHL A
— sHAcIZERIR|MIE OOl D2 O A Bre —2,740,0) 2,740,000 &
& DSAVHLME HEBES23/H B5-3-1 L&
— stAciZERIR|MIE OIZHOI 2 O A Bre —2,200,0) 2,200,000 &
® SANP SSE23|H Al-2-4 CTABISLAE
— A3 3,000 x20H+60 3,600,000 &
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